23/3/2020
LO: l it

Al) 2837 + IO
A2) 2172 + 5729
A3) 1845 + 86283
Al) 83518 + /L84

Bl) 34.27 + 18.05
B2) 7348 + 39283
B3) 1.37 + 2975
Bi) 8.005 + 228 .38

Cl) 145kg + 1463 g
C2) L-163m + 3.6km
C3) 28l + b, 27kml
k) 465m + 237 5em

DI) 31799 + 2268k = 57422
D2) 7872 + 7087 = 39.60?
D3)

I am thinking of
a number. I add 200,000, then
subtract half a million, then add

a quarter of a million. Then I round
to the nearest 10, which is
two million and fifty.

What number could Alex have been thinking of to start with?



